N = 0l & At & M A

20138 &= =& 1 3 LA A

SN BUNES
HE: ANNRS ALBY
el FOIZBHL (crel H)
SA-EHB - BAEH) - NRAY - BES 0l & o p/E-F HIDE2
BUNES 941,729 797,08 144,631
BUNES AL B 156,391 58,210 A1,819
FOZHHL 139,491 141,210 A1,719
LA 63,341 64,610 A 1,269
201 Yer2 bl 43,051 44,410 A1,359
01 A2 22l 8,151 8,580 £429
OFRITAMEH 2| 1,371 1,800 £429
-l AR S 1,371 1,800 £429
03 A2 7,670 18,600 £930
ORYLH LA+ 15,870 16,800 2930
202 01t 7,340 7,200 140
01 =01 bl 7,340 7,200 140
OLHBIEE L RS 0| 6,840 7,200 A360
OMEET YR 50,0008 * 22 * 53 500 0 500
203 &2 £ bl 950 1,000 A50
03 AR FHYRET| 950 1,000 A50
ONEZFYR =Y 950 1,000 A50
FoEs=2Y 76,150 76,600 A 450
301 YurE a3 74,150 74,600 A450
10 BAAEI243 8,550 9,000 A450
OSOIMSHE &K 24 5,550 6,000 A450
XISt R A 16,900 17,000 A100
RSP A Y 16,900 17,000 A100
201 YEr2 | 1,900 2,000 A100
01 AR 22l 1,900 2,000 A100
OJzw 2AxH )| AXE 1,900 2,000 A100
BUNEE A2 FOHAAY 163,000 20,000 143,000
AR FOIEALY 163,000 20,000 143,000
AP FOIBOAY 163,000 20,000 143,000
401 N EHIL 2T 110,000 20,000 90,000
01 A&t 110,000 20,000 90,000
OZE2E0S 28717 &3 20,000 0 20,000
03228 MAHIIEX bl 30,000 0 30,000
OIS Ml PIET Yl 10,000 0 10,000
OOIS1E 02 FREX 10,000 0 0,000
OSYZNE LAY & 20,000 0 20,000
402 212X+ 01 & 53,000 0 53,000
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